WAL

PLT

_______________________________ -
1(mm)
1 10.0
2 35.0
3 150.0
4 25.0
5
6 9.0
7 9.0
1 2 3 4 5 6 7
r— 17T 717~ 7- 7~ 77—
a a
L1111 _1_1_
1(mm)
1 160.0
2
3 12.0
1 2 3
F——p——T-
a oi
L1 __1_
1(mm)
1 2.0
2 150.0
3 25.0
4
5 9.0
6 9.0
1 2 3 4 5 6
e e e e e
a ol
L1 __1_1___1_1_1
1
1
a ai
_______________________________ L
1
Us—————————= ao =23 W/
1/a o+ I/\ +1/a i ai=9wW

_________ r———-T
U ] 5 |
A I
0.110 0.091|  0.80
1.500 0.023
1.400 0.107
0.037  0.676
1.000 0.070
0.790 0.011
0.064 0.141
SI/A= 1119
U= 0.786
A I i T
1.400 0.114|  0.80
1.000 0.070
0.790 0.015
SI/A= 0.199
U= 2.833
A I i T
0.190 0.011|  0.80
1.400 0-107
0.037  0.676
1.000 0.070
0.790 0.011
0.064 0.141
SI/A= 1.016
U= 0.855
4.500 i 'T
_________ 1l _ 1

"X

0.043¢ U
= 0.027

0.043¢ U
= 0.097

0.043¢ U
= 0.029




D

_____ _E__T_KH_I_O._AEI_KEI_L_OS I =R
_____ S B B e S
A ] Ux A n H n Hx A n cl nCcx A
(@) T( ) | WAL 322.0 2.833 912.2 0.097 31.2 0.097 31.2
6Ls1 | 135.0 4.500 607.5 0.500 67.5 0.500 67.5
| | |
S S S R R [T [
SN R A S R [T [T
S S S R R [T [
SN S A S R [T [T
[ W AU I I R oo oo
A O SR P R S R [
! —— —-— ] T UAL (1) 1519.7 T n HAL (4) 98.7 InCAL | (6) 98.7
() | waL 1; 80.3 2.833 227.5 0.097 7.8 0.097 7.8
6Lst | 47.5 4.500 213.8 0.500 23.8 0.500 23.8
""Jlr _______________________________ [ [
SN S A S R [T [T
S S S R R [T [
SN R S S R [T [T
[ W AU IR I R oo oo
AN O SR P N I [
—— |l —— | w2z um3 (2 220.7 1/22 n HA3 | (5) 15.8 I 1/2% n CA3 |+(7) 15.8
0.76x AP1 (3) 484.9 —— —— | —— | —— |
1 —— |T —— | UT(a)=1)+2)+3) 2225.3 @)+(5) 114.5 I 6)+(7) I 114.5
®) [ () [ wAL 1; 56.1 2.833 158.9 [ < > n H=n C=n
—_—— i — | ______________________________________________
| ; A8 I
| i :AP1 638.0
| ! :AP2 75.0
! —— —-— ] T UA2 (8) 158.9 1 AP( ) 713.0
() | waL I 24.5 2.833 69.4 i AP(C) 175.0
| AP 888.0 |
R T B o P ]
| ! 11
| 11.2x AP( ) 6x AP( ) 9035.6 W
| ! UT=(1)+(2)+(3) 12)
—— |l —— |l 1/25 UA4 9 34.7 ! +(8)+(9)+(10) i 2475.9 W/K
0.76x AP2 10)  57.0 § A8 =(11)/(12) |l 4 K
A | 665.4 | UT(b)=8)+9)+10 250.6
T e B 3
__________________________________________ T
8 Href=20-A 6 16 8 Cref=26-A 0 22
@H+(5) ©®)+(M
T ——— 0.05 T —————— 0.05
! O+@+3) W+@)+(3)
1800.0 410.0
! 1790.0 220.0
{(1)+(2)+(3)} EHD (13)  4005540.0 {(1)+(2)+(3)} ECD (15) 912373.0
{(8)+(9)+(10)} DOH 14) 448574.0 {(8)+(9)+(10)} pOC (16) 55132.0
QH=0.0864 KH {(13)+(14)} 153934.2  MJ/ QC=0.0864 KC {(15)+(16)} 87772.0 MJ/
t QH + QC 241706.2  MJ/ - PAL = (QH+QC)/AP 272.2 M/



@n | 840.5 0.81
ey | a0 [ -
en [ 30035 | -
______ T ________ad_)_
N | oasel a0
w0 e21.5] 31
s [ 679.6] 8
s [ 23e65] 0 e
w0 mee2] 2
B 184.1] 7
CKksxAp | 18249 ————————_
st [ el _________"
CKksx Al [ € 680.8(  GHx AT
CKx AT | 3a95.7[  cox AT
Csur | 13ae2] —————————
U R el

1. UT,n Hx A,n Cx A PAL
2. (d)  4-3
3. (KS,KL)
4. (GH,GC)
4-5
5. % x
6. X 2 x X
7. A B S n x )x x
AB I n x )x x

1.13 16.7 18.1
____________________________ T
n Hx A (n Hx A)x Id ncx A (n Cx A)x |d-||
114.5 4580.0 114.5 4580.0
18.2 564.2 18.2 564.2
15.8 1279.8 15.8 1279.8
108.3 7147.8 108.3 7147.8
30.2 3835.4 30.2 3835.4
0.0 0.0 0.0 0.0 |
__________________________ _||
T (n Hx A)x Id 17407.2| = (n Cx A)x Id 17407.2 j
51661.5 | ———————————— |
——————————— 55992.4 1
5.1 5.4 j
4
4-4
s ,
b3



STEP 1

STEP 2

STEP 3

STEP 4

-t

STEP 5

STEP 6

STEP 7

F--—t

STEP7*"

F-——1

STEP 8

F-——1

STEP 9

uTl
UT1=0.33x Vx Al

UTI=0.33x Vx AT

(QB)

qH=0.0864*KH*UT I*DOH
qC=0.0864*KC*UT1*DOC

QB=gH+qC
KH KC DOH DOC

X=AP/AT
y=0.4x X+1

QT=Qs+QL

0=5 QT KB
KB

it
DOH
EE O



CEC/AC @:

C )

+————t —————————————————
A
P
pommmmmmmeos
e
pommmmmmmmoos
P
pommmmmmmoes
P
pommmmmmmoes
F _________________
k _________________

[MI/h]

R —
pommmmmmmmoes
P
P os
P
pommmmmmmmmoes
P
F _________________
(T

b m

I e I I (____1
&1@5‘ o) [ e [emy [ om
I 84.0 63.0 !
| 30.0 |
Fr e -
| 1.5 _||_
220.0 J|r
9o.o_|F
300.0 |
““““““““ |
““““““““ |
““““““““ |
““““““““ |
———————————————— -
________________ L
84.0 63.0 551.5 90.0
819.8 614.8 | 19955.0 [ 3330.0
7.5 b
JF 792.0
4|_ 104.0
JF 74.0
46.0 J|r 7.9
2.2 2.2 | 0.2
- 11 __ +____
598.0 488.5 |
““““““““ |
““““““““ |
““““““““ |
———————————————— T
________________ L]
646.2 490.7 7.5 | 978.1
28649.4 | 22629.8 345.7 112074.4



CEC/AC @: CEC
________________________ S ——
10006.5
________________________ [ [ s
T [ ([ [ %
|_ ___________________________________
PHCG PHHG PACG PAHG ! PFP
[MI/h] 819.8 614.8 19955.0 3330.0 L 0.0
[ 1 351 194 869 17| 2000
_____________________________________________ +_______
/ x / 288 119 17341 3913 ‘ 0
____________________________________ -1l 1 ___
T
1 -
« 7 ) /
/ /. et
[ 63670 3661 17.39 1.5
( )
1 Y A= 0.50
vy | | e = | = | b 0.27
2 | we= o0.30 003 [ —————— | —————= [ —————= | —————-
________ +______ ) S _______+_______
3 _||_l]JM= 0.50 0.00 | —————— | —————— | —————— |+ ——————
4 pc= 0.67 | ro -0.27 ro 0.05
WE= O.70+pH= o.9o£ r -0.24 r 0.05
5 |l —— | 0.10 0.20 0.30 0.40 0.50
@ri ) -0.11 0.25 0.30 0.40 0.77
[h]
x 390 146 608 705 ) 460
/ x /1000 ) 320 90 12133 2348 0
/ | 32.0 |l 9.0 1212.5 234.6 0.0
1 - 7 )I 40965
[ /]
___________________________ +__________
40965 /| 4093.8 /
/25 N s
/ /|
/ 11.19 ( ) 22705 / 1



CEC/AC ®:

836.3 836.3

198

869

818.6

1174

1764.2

869

0.0

1210

1533 0

1764.2

1174

2072 0

0.0

po—s

2250]

+--==3

o

e
0.15‘ o.ooT

TCP= 10( THP= 11| TCP=
0.00 -0.63

12
0.51

THP=

0.12
-0.42

S —
0.28‘ 0.00

13
0.73

Coosf ——— [ == [ ———
© 000 007 ——— [ ———
r0-0.27( ro 0.02[ ro— |ro—
ro0.2fr oo2fr — [r -

Y w=0.32
0.24

W w=0.25
0.15

ro —

ro —

0.15

0.30

0.40

608

1073 0

107.2

0.0

Y w=0.
0.

0.16 0.

1099 0

109.8

50[ @ w=0.60
30

.08





